£ 3 [

% Y K (GEERE)

ANAXBRES (i)

No. 1/ 4

20224 12821H

% 2 B % ABEBRUEHY i &
1 10| 36,000|  36x 10
2 35| 126,000  36x 35
3 83|  298,800|  36x 83
4 72| 259,200|  36x 72
5 27 97,200  36x 27
22 55| 198,000  36x 55
2 3 256  921,600|  36x256
2 4 102|  367,200|  36x102
2 5 12|  43,200|  36x 12
g 2 7 25,200  36x 7
g 3 29| 104,400  36x 29
% 4 17 61,200  36x 17
& 5 36| 129,600  36x 36
FE2 19 6,400  36x 19
2ES 73| 262,800  36x 73
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= 3 g = Y IR (HHERED) Mo 2/ 4
FNEERBRES (hi#) 20224 12A218
sm | E oM ABERU B K T
FE4 5 18, 000 36x 5
B 2 ) 18, 000 36x 5
2 3 15 54, 000 36x 15
2 4 3 10, 800 36x 3
B 5 3 10, 800 36x 3
21 5 18, 000 36x 5
=2 11 39, 600 36x 11
=3 25 90, 000 36x 25
24 90 180, 000 36x 50
=5 69 248, 400 36x 69
26 3 10, 800 36x 3
B 2 4 14, 400 36x 4
B 3 12 43, 200 36x 12
B 4 6 21, 600 36x 6
B 5 2 1,200 36x 2
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% Y K (GEERET)

ANEXBRES (%)

No. 3/ 4

2022412218

% @ 553 B A RU B R % =
B 6 4 14, 400 36x 4
Bl 5 5 18, 000 36x 5
< 4 4 14, 400 36x 4
{ 5 ] 25, 200 36x 7
O 2 16 57, 600 36x 16
O 3 49 176, 400 36x 49
O 4 100 360, 000 36x100
O 5 31 111, 600 36x 31
KO3 ] 25, 200 36x 7
KO 4 17 61, 200 36x 17
C 2 16 57, 600 36x 16
Cc 3 11 39, 600 36x 11
C 4 12 43, 200 36x 12
C 5 1 3, 600 36x 1
C 6 11 39, 600 36x 11
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% 3 @ = Y IR (HERED M4/ 4
ARAXBREES (k2 2022512H21H
F & Fa% ® ABERUVHEH 5 %

B 5 11 39, 600 36x 11

" 2 1 3, 600 36x 1

& 3 3 10, 800 36x 3

i 4 4 14, 400 36x 4

# 5 2 7,200 36x 2

W2 3 10, 800 36x 3

B 3 10 36, 000 36x 10

W4 2 7,200 36x 2

B 5 2 7,200 36x 2

e 3 1 3, 600 36x 1

R 5 2 7,200 36x 2

& & | 1,383| 4,978,800 | Xz5(1,383)
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